





































LECTURE 12 Red BlackTrees

The one red leaf the lastof its clan
That dances as often as dance it can
Hanging so light and hanging sohigh
On the topmost twig thatlooksupat thesky

SamuelTaylor Coleridge
Christabel 1797 1800

AVL trees workedbystoring an extra int
in each node height Redblack trees are
also balanced but needonly store oneextra bit

In practice they are less balanced but

wisertion is faster
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The structure relies on two invariances

9 Every red node must have a black parentnode
2 Evey path from the root node to a leaf
must have the same number of black nodes
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